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Mental Alility 1

Group Number : 1

Group Id : 998367680

Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit?: No

Break time: 0

Group Marks: 20

Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0

Minimum Instruction Time: 0

Mental Ability 1

Section Id : 998367801
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20

Section Marks:

20



Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 9983671019
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 99836718911 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following words cannot be made by using the letters from the given word?

DISTRAUGHT
Options:

1. % GHOST

2. % SUGAR

2 % GIRTH

4. % TRIAD

Question Number : 1 Question Id : 99836718911 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR # & & A7 Seg, 150 T =g & STaRT &7 JUANT FoF Tg1 a3 AT THaT7

DISTRAUGHT
Options:

1. ¥ GHOST

2. % SUGAR

2. % GIRTH

4 % TRIAD

Question Number : 2 Question Id : 99836718912 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the missing term in the following letter series.

LT, R O K ?
Options:
1. % H
2. %]
3% ]
4 ¥ F

Question Number : 2 Question Id : 99836718912 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
TRAET S1e7 @ | g Ug &1 19 @

IT R O K ?
Options:



1. ®*H
2 %1
3% ]
4 ¥ F

Question Number : 3 Question Id : 99836718913 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the missing term in the following series.

HHOHHOH, ¥EOHHNO, OHEONYY, HOHONEY, HXOOKHY, »
Options:

1. ¥ HEOOHHK

2. % HEOHKOK

3. % HOXOHKX

4 % HHHOOHY

Question Number : 3 Question Id : 99836718913 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FRRET @ § 70 U8 B AT F

HHOHHOH, ¥XOHHED, OHEOHNE, HOHOKER, HEOOHHEY, ©
Options:

1. ¥ HEOOHHK

2. % HEOHKOK

3% HOEOHKKE

4, % HHHOOHX

Question Number : 4 Question Id : 99836718914 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Cut of the given options, three are simmilar in a certain manner. However, one option is MOT like the other three,
Select the option which is different from the rest.

Options:

1. % Father

2. ¥ Mother

2. % Grandson

4. % Grandfather

Question Number : 4 Question Id : 99836718914 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

%qrr%ﬁfﬁﬁﬁﬁ A T TS FF & T 8 §IAT, U [dded ST o 4 o1 a¥g Agl 51 99 e @1 oa & o1 9Tl &
STEATT

Options:

1. % fugr

2. ¥ O

AR ICIECIC)



4. % FE1/AET

Question Number : 5 Question Id : 99836718915 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Cut of the given options, three are simmilar in a certain manner. However, one option is MOT like the other three,
Select the option which is different from the rest.

Options:

1. % EDF
2. % TVX
2. ¥ MOF
4 % IMNPR

Question Number : 5 Question Id : 99836718915 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

%qrr%ﬁfﬁﬁﬁﬁ A T TS FF & T 8 §IAT, U [dded ST o 4 o1 a¥g Agl 51 99 e @1 oa & o1 9Tl &
STEATT

Options:

1. % EDF
2. % TVX
3. ¥ MOP
4 % DMNPE

Question Number : 6 Question Id : 99836718916 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given options 3 pairs of words are similarly related and one pair is differently related. Find the pair
which is differently related.

Options:

1. % Car: Road

2. % Train : Rail Tracks
3. ¥ Aeroplane : Filot

4. % Boat : Fiver

Question Number : 6 Question Id : 99836718916 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Eqnqé?amﬁﬁmﬁfﬁS ET HAT &0 O Tr1ad 5, 7 U ST 60 998 & Galid 81 9 A2 &1 A9 & AT ST aig |

Options:

1. % &N 92

> % YEE AT
= o AT FE IS
4 ® 9. Aot

Question Number : 7 Question Id : 99836718917 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In the given options = pairs of words are sirmilarly related and one pair is differently related. Find the pair
which is differently related.

Options:

1. % Dog : Kennel
2. % Goat: Pen

3. ¥ Rabbit : Bunny
4. % Hen : Coop

Question Number : 7 Question Id : 99836718917 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
%qmgﬁ?wﬁﬁmﬁfﬁz ST AT &0 & T4 5, 3 U AIST 337 395 & Gared 51 9 A2 &1 A9 & AT AT g o

Options:

1. % g g HT e

o, % g@il T

%, & FITAT ;IS o T
4 % it gz

Question Number : 8 Question Id : 99836718918 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the option that is related to the third term on the same basis as the second term is related to the first
termL

AZTT AR o IMY (7
Options:

1. % HLX

2. % GKw

3% FIV

4. ¥ RMNE

Question Number : 8 Question Id : 99836718918 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
I ey 1 = S S g I A el § e W g U uge 0E 4 g rhd gl

AZTT  ZAF o IMY @ 7
Options:

1. % HLX

2. % GEw

2% FJV

4. ¥ RMNEBE

Question Number : 9 Question Id : 99836718919 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
From the given options find a pair of letter clusters which is analogous to the given pair.

YEE : EHE
Options:



1. ¥ CSN: FVQ
2. % ZPH : YHN
3. % DTW: ADT
4. % EUY : YHF

Question Number : 9 Question Id : 99836718919 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T et 3 & et Y g ST @ A @, A Ry Ty A sger

YEE : EHE
Options:

1.9 CEN :FV D
2. % ZPH : YHM
3. % DTW: ADT

4. % EUX: YHF

Question Number : 10 Question Id : 99836718920 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Irn & certain code anguage, if "STEP" i5 writtenn as "20-21-6-17" then "POSTIMNG" would be written as:

Options:

1. % 17-16-20-21-13-17-12
Z % 17-15-20-21-9-14-8
3. % 17-18-20-21-11-16-10
4 ¥ 17-16-20-21-10-15-2

Question Number : 10 Question Id : 99836718920 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
U [T i AT B FiE STEP & *20-21-6-17" SR 9@T 5, a7 "POSTING® &1 1o merme fegT =

Options:

1. % 17-16-20-21-13-17-12
2 % 17-15-20-21-9-14-8
3. % 17-18-20-21-11-16-10
4 ¥ 17-16-20-21-10-15-8

Question Number : 11 Question Id : 99836718921 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
I[f FEARLESS is the code for EAEFSSEL then what is the code for POSSIELEY

Options:

1. % S5CPELEI
= % S3POELIE
3. % SSOPIBLE
4. % S5OPEELI

Question Number : 11 Question Id : 99836718921 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
e FEARLESS T ®1E § RAEFSSEL a1 POSSIELE o o0 i F47 27

Options:

1. ¥ 33CPELEI
2. % SSPOELIE
2. % S5SOFIELE

4 % SS50OPEELI

Question Number : 12 Question Id : 99836718922 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In a certain coding language, if AT = 28 & SKY = 227 then SPARK will be equal to:

Options:

1. % 5E25
z ¥ 5125
3% 4125
4 % 4825

Question Number : 12 Question Id : 99836718922 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
U kT FiET T Afe AT = 28 & SKY = 327 § 7 SPARK. Tradr exTex gim?

Options:

1. % 5625
2 ¥ 5125
2% 4125
4 % 4625

Question Number : 13 Question Id : 99836718923 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

E, L M, N & are sitting on a bench. M is to the left of O and is at one end. M is to the left of L who is not at
the end. Who is to the left of K7

Options:
1.% N
2. %O
2% M
4 ¥ L

Question Number : 13 Question Id : 99836718923 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

K,LMNaROUFSR WS AN, OFae MR iR IF e ol M, LFas e iR L R Wi 1 K Fam o 1= 57
Options:

1. %1

RN

3% M

4 9L



Question Number : 14 Question Id : 99836718924 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& B, C, D, Eand F are sitting in a circle facing the centre. E is opposite 4, C and E are sitting next to each other.
E is to the right of F who is facing <. Who is to the left of D?

Options:
1. % F
2. % C
VA
4 % E

Question Number : 14 Question Id : 99836718924 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

&, B, C, D, E &R F g &1 9% Hg @iy U =ier § o1& §1 B, & & e g, C 3fCE U g8 & el # & 51 B, F o 218 &M § X
F, C ¥ g ¥ @ma 81 D F and oiw a7

Options:
1. % F
2. %
VA
4 % E

Question Number : 15 Question Id : 99836718925 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ajay, Yatika, Ganga, Sandhya, Barun and Diya are sitting in a circle facing the centre. Diya is opposite Ganga,
Ajav i3 to the right of Yatika, who is opposite Barun, who is sitting to the right of Ganga. Who is to the left of
sandhva?

Options:

1. % Ajay
2. % Diva
2. ¥ Barurn

4 % Ganga

Question Number : 15 Question Id : 99836718925 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ST, AT, T, e, S50 &Y 17 the @l a0 aﬂﬁa‘qmamﬁé%‘% AT T o AT, SR, AT & 218 oW R, AT
azv—rra:'ﬁrcrﬁ'cr% Gﬁmﬂﬁfaﬁ‘aﬁ'{aﬁ% ﬂ%mﬁrwg?

Options:

1. % &/
2 ® fgam
R -
4 & Tmr

Question Number : 16 Question Id : 99836718926 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

P, O, R, 5, T and U are sitting in a circle facing the centre. U is opposite T, P and B are not together, R is to the
right of 5 and T is between P and . Who is to the right of OF



Options:
1. %5
2. %P
EH V)
4 % T

Question Number : 16 Question Id : 99836718926 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
F,OERSTARUIEH e g IFaF s U T FEma s PR R gw a5 &, R, S F a8 AR e R T, P &K
R ¥ d 81 Q& I8 &7 31 87

Options:
1. %5
2 %P
2V
4 % T

Question Number : 17 Question Id : 99836718927 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

YVasa, Tasi, Zayed, Yasmin, Rahim and Ejaz are sitting in a circle facing the centre. Rahim is opposite Ejaz,
Yasmin is to the left of Vasa who is opposite Tasi. Who is to the left of Zayed, if Ejaz is between Zaved and
Vasa?

Options:

1. % Vasa
2. % Tasi
2. % Rahim
4. ¥ Ejaz

Question Number : 17 Question Id : 99836718927 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ATET, TTE, AT, AT, TR 3T T dhg oF TTH U B H &6 51 150 A0 o 00T &, AT araT & a1 Y 5 ot amr
Tt o T 31 A o T o die § Afe ATe & a1 3 B 8

Options:

1. % gmar
2 ® gt
3 % Em
4 ¥ T

Question Number : 18 Question Id : 99836718928 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Read the given statement and conclusions carefully and decide which of the conclusions logically followi(s)
from the staternent.

Staternent:
The best way to escape a problem is to igrore it.

Conclusions:
I. Life iz dull without problems.
II. To escape a difficulty, one should always have a solution ready.

Options:

1. % Only conclusion I follows
2. % Only conclusion I follows
2. ® Both I and II follow

4. % MNeither I nor I1 follows

Question Number : 18 Question Id : 99836718928 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o Ty e ofK Fwd @t eae & g &l vl o for g O & i A e avicher €9 € argEeor e o)

-
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Options:

1. % ot Tmepy I SIeo #3aT &

2. % e Teeand 11 SIe aT g

3 % [ oI gF! g Fd &

4 & T AR TG argae aeaT g

Question Number : 19 Question Id : 99836718929 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the question two staterments are given, followed by two conclusions, I and I1. You have to consider the
staternents to be true evern if it seems to be at variance from commonly known facts. You hawve to decide which
of the given conclusions, if any, follows from the given statements.

Staternent 1 : All novels are books.
Staternent 2 All books are magazines.

Conclusion I All nowvels are magazines,
Conclusion I Some boolks are novels.

Options:

1. % Only conclusion I follows
2. % Only conclusion I follows
3. ¥ Both I and II follow

4. % Meither I nor I follows

Question Number : 19 Question Id : 99836718929 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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T [1: P Qe I &)
Options:

1. % el Tmepy 1 SIe &ea g

2. % el Ty 11 SIE ®ar g

3. ¥ 1 SR g1 gE FWd &

4 % T T EI] e feal g

Question Number : 20 Question Id : 99836718930 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, three are similar in a certain manner. Howewer, one option is NOT like the other three.
Select the option which is different from the rest.

Options:

1. ¥ 132

2 % 117

3. % 135

4 % 1532

Question Number : 20 Question Id : 99836718930 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

mﬂ%ﬁwﬁﬁﬁ A1 Ter TS Foi | T 51 §TATE, U [ded ST o 14 1 a¥g Al 51 39 e &7 == & A7 aehl |
ATETT

Options:
1.9 132
2. % 117
= % 135
4. % 153

Merital Ability 2
Group Number : 2
Group Id: 998367681
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0

Minimum Instruction Time: 0



Mental Alility 2

Section Id : 998367802

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 9983671020
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 99836718931 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Cornplete the following number series:

10, 25, 50, 85, 120, 125
Options:
1. % 230

2. % 260
3% 240
4. % 250

S ——

Question Number : 21 Question Id : 99836718931 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
10, 25, 50, 85, 130, 185, ___
Options:

1. % 230

2. % 260

2% 240

4. ¥ 250

Question Number : 22 Question Id : 99836718932 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which two nurmbers must be interchanged to correct the given equation”

axd-5+10-2=21
Options:

1. % 10and 4

2 % Zand 2

2. ¥ Zand S

4 % Land 8



Question Number : 22 Question Id : 99836718932 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T T Wt Y SR e o Ty e 2 SEatt W e S g dAT 2y
Bxd=+E4+10-2=21

Options:

1. ¥ 10av 4

> % 3awz
S ¥ 2aS
4 ® 5awy

Question Number : 23 Question Id : 99836718933 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the option that is related to the third number on the same basis as the second number 15 related to the

first nurmber.
3549557
Options:

1. % 70

2. % 72

3 %75

4 ¥ 77

Question Number : 23 Question Id : 99836718933 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

9 Terped T e e ST o T ST F FHT HE | Helled § A T e ST g Sl § et )
35490557

Options:

1. % 70

R =

3. % 75

4 & 77

Question Number : 24 Question Id : 99836718934 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the rmissing number in the given series.

-9, -6, -2, 7,9 16, 24
Options:
1.¥3
2. %1
= %0
4 % 4



Question Number : 24 Question Id : 99836718934 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ST TS #TelT § o 6T #11d ®4

-9, -6, -2, 7, 9, 16, 24
Options:
1. ¥ 3
2 %1
= %0
4 % 4

Question Number : 25 Question Id : 99836718935 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given options 2 pairs of numbers are similarly related and one pair is differently related. Find the pair
which is differently related.

Options:

1. %502

2. % 025, 4
2% 10,01
4 % (0125, 25

Question Number : 25 Question Id : 99836718935 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
%qmgﬁ?wﬁﬁmﬁfﬁz ST AT & & AT 5, & U FIET AT 9 & Ga1ed ) ST AST B AT T AT AAT AE F

Options:
1. %502

2 % 025 4
2% 10,01
4 % 0125, 25

Question Number : 26 Question Id : 99836718936 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Cut of the given options, three are similar in a certain manner. However, one option is NOT like the other three.
Select the option which is different from the rest.

Options:
1. % 23
2. % 33
3% 43
4 % 53

Question Number : 26 Question Id : 99836718936 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ﬁ{qn%ﬁaﬁ—nﬁﬁﬁ 1 Ter TS Foier & W 81 §TAT, U [ded ST o 14 1 a¥g Al 51 39 e o7 =a= & =7 9l |
ATETT

Options:



1. % 23
2. ¥ 33
3. % 43
4 % EX

Question Number : 27 Question Id : 99836718937 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which two signs should be interchanged to make the below equation mathematically correct?

TE-Bxle+44+2=52
Options:
1. + %

ER
3%+ -
4 % - 4

Question Number : 27 Question Id : 99836718937 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
et TaT T i i € & G a6y, e o R @ e S i FT e

FE-B =1t +4432=52
Options:
1.9 + x

A L
W 4 =
4. % _ 4

Question Number : 28 Question Id : 99836718938 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which two nurmibers should be interchanged to make the below equation mathematically correct?

Iew24+T2+9-21=14
Options:

1.% 29

2 % 72 36

3. % 21, 36

4 % 36,9

Question Number : 28 Question Id : 99836718938 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
et T T e i & Gy e o A T S et o T ST e T AT 2 e

IExw2472+9-21=14

Options:
1. % 2 9

2% 72 36



3.9 21, 36
4. % 35,9

Question Number : 29 Question Id : 99836718939 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If 14#2 = 70, 10#2 = B0, 8#4 =20 then find the value of 1543

Options:
1. % 150
2. % 54
3. % 38
4. % B0

Question Number : 29 Question Id : 99836718939 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

afg 14#2 = 70, LO#2 = 50, 5#4 = 20 91 LE#Z, 1 05d AT B
Options:

1. % 150

> % 54

3. ® 35

4 ¥ g0

Question Number : 30 Question Id : 99836718940 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following figure, circle represents electricians, triangle represents fathers, square represents boxers and
rectangle represents Indians. Which set of letters represents electricians who are NOT Indians?

Options:
1. % GHI
= % ED
3. ® FE
4 ¢ 4

Question Number : 30 Question Id : 99836718940 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Pt s . o9 Faorelt Tt ot garfat 2, Frepior Riameft ot garfat 2, et migarsit ot arfeT & ofte armere st ioit oy 2T 2
Syt T T AT A et Tt ZataT £ 9 e g 2

_rh'-._
"'G"'-.x
/ :G".._‘.- __ff. : --H‘\
[w [ 5
[e 1 el |
W, B
ls i |
Options:
1. % GHI
2 % BD
2. % FE
4 V14

Question Number : 31 Question Id : 99836718941 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following Venn diagrams best represents the relationship between birds, insects and bees?

Options:

OO

Question Number : 31 Question Id : 99836718941 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 32 Question Id : 99836718942 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& cyclist goes 4 km East, then turn to his left and trawvels 3.5 ki, then turns East and travels 2.5 km then turns
South and travels & ki, then turns to his right and travels 6.5 km. Where is he now with reference to his
starting position?

Options:

1. % 15 km South
2. % 15 km MNorth
2 % 5.5 km South
4 % 3Ll Morth

Question Number : 32 Question Id : 99836718942 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1.9 1.5 ke Zigom

2 % 15 kmTw
3. % 35 lm Sta
4 ® 55 km T

Question Number : 33 Question Id : 99836718943 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ramesh is facing North-west. He turn 45 degrees to his right, then turns 180 degrees, then turns 90 degrees
right. Suresh warnts to talk to BEamesh 50 he stands facing Eamesh. In which direction is Suresh facing?



Options:

1. % North
2. ® South
3. ¥ East

4. ® West

Question Number : 33 Question Id : 99836718943 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % Fo
2. % Zfgo

3 ¥ O
4. % ghEm

Question Number : 34 Question Id : 99836718944 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Out of the four options three are similar in a certain way and one is different. Find the option which is
different.

Options:
E L
>ID<
=
1. %

B ™
D6 q
T sir.
oo
3%-3
S IVA(
D
MmA
g W

Question Number : 34 Question Id : 99836718944 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:



X
a
X

4 o

Question Number : 35 Question Id : 99836718945 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four pairs of figures are given. Three pairs are sirmilar in a certain way and one is different. Find the pair of
figure which is differernt.

Options:

1 W




Question Number : 35 Question Id : 99836718945 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. v

a O
4 A
ON(-

Question Number : 36 Question Id : 99836718946 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



& figure series of & parts is given. Out these 4 parts are labelled 4B, C and D. One of these 4 parts is incorrect,

Find the incorrect part.

+

@ O

C

E

O

X @

+

@ O

Options:
1.9 4
2. % B
3. % C
4 % D

Question Number : 36 Question Id : 99836718946 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1.9 4
o % E
38
4, % D

Question Number : 37 Question Id : 99836718947 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which of the following cubes in the answer figures CANMNOT be made based on the unfolded cube in the
question figure?

Options:



1. %
i
o %
@,
3 % L
O
4 *®

Question Number : 37 Question Id : 99836718947 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
/i
1. ¢
%
o ®
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Question Number : 38 Question Id : 99836718948 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following answer figures completes the pattern showr in the question figure?

—_—

1 U=

Options:

N [

1. %
U
2.%"E
Z
3. % =
N
4.%:'

Question Number : 38 Question Id : 99836718948 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

N [

1. %
1
z.vf‘z
Z
3 % =
N
4%:'

Question Number : 39 Question Id : 99836718949 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& piece of paper is folded and punched as shown below in the question figures. From the given answer
figures, indicate how it will appear when openead.

Options:




4

Question Number : 39 Question Id : 99836718949 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

%a%%ﬂgﬁmmwa%wqﬁmmﬁ%ﬁmwﬁ S TR IO ATl 6, S e op 5 g A WAy

Options:

1. W
N7
ZN
,x oo
P S
7S

4

Question Number : 40 Question Id : 99836718950 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Parts given in which option can be joined to create the pattern given in the question figure?

Options:

4 &

Question Number : 40 Question Id : 99836718950 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e MTpTe H T T U 1 a0 @ & e e A1 " 5

Options:
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eneral Avwarenessl

Group Number : 3

Group Id : 998367682

Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit?: No

Break time: 0

Group Marks: 20

Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0

Minimum Instruction Time: 0

ereral Awarenessl

Section Id : 998367803
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20

Number of Questionsto be attempted: 20



Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 9983671021
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 99836718951 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Atta Karagam was traditionally performed by the people of village to praise the
Options:

1. % stars

2. % moomn
3 % sun
4. ¥ rain

Question Number : 41 Question Id : 99836718951 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ST O BT ARINE & H
Options:

1. % TEamt

2 % g

z % g

4. Fiear

T WAt He F 1o T O ST T ued o SraT em

Question Number : 42 Question Id : 99836718952 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Teejan Eai is associated with which of the following folk musics?

Options:

1. ¥ Bhaitali

Z ¥ Pandavani
3. % Lavani

4. % Bihugeet

Question Number : 42 Question Id : 99836718952 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Sfformaré Bl # & R e arig 95T
Options:

1. % AqmT

2. ¥ gEamt

z. & et

4. % fogiia



Question Number : 43 Question Id : 99836718953 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Allar built the Buland Darwaza to Ccormurnermaorate Nis victory over _________.
Options:

1. % Assam

2. ® west Bengal

3. % Kerala

4 9 Gujarat

Question Number : 43 Question Id : 99836718953 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % =13/

2 % ghEm e
3 8 o

4 & T

Question Number : 44 Question Id : 99836718954 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which armorng the following festivals is celebrated as Tibetan New Year?

Options:

1. % Hornhill
2. % Cnam
3. # MNowruz
4 ¥ Losar

Question Number : 44 Question Id : 99836718954 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % EHFY =
2. % oy

3 ® qEe
4 A

Question Number : 45 Question Id : 99836718955 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Till 2000, the budget was presented at Sprm on the last working day of

Options:

1. % January
2. ¥ February
3. % March

4. # April



Question Number : 45 Question Id : 99836718955 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
2000 T, T __________ o ATdH FT Teme 7 5 AT W T SaT am

Options:
1. % et
2, o
3. % Ol
4. % s

Question Number : 46 Question Id : 99836718956 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ZEDT stands for

Options:
1. ¥ Central Bureau of Direct Taxation
2 % Central Board of Direct Tax

= % Central Board of District Taxes

4 # Commission Board of Direct Tax

Question Number : 46 Question Id : 99836718956 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
CEDT ®Tuuf&a __________ B

Options:

1. % Heol sgil SiTh SrET Sode (Central Bureau of Direct Taxation)
2. o Hra A2 TF ETeRee 79 (Central BEoard of Direct Tasx)

3. ® draais ofp 2eeae t99 (Central Board of District Taxes)

4. ® i g2 AT STeET &9 (Comumission Board of Direct Tax)

Question Number : 47 Question Id : 99836718957 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
____________ 15 knowtl as a banker's banl
Options:

1. ¥ Regional Rural Eank

2. ¥ Comrmercial Bank

=. ¥ Central Bank

4 % Pyuhlic Bank

Question Number : 47 Question Id : 99836718957 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % gy g s
2 ® FIUaE da
2 ¢ dgTdw



4. % grFtw dF

Question Number : 48 Question Id : 99836718958 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which among the following is an example of first class lever?

Options:

1. ¥ See-saw

2. % MNutcrackers
3. ® Wheelbarrow

4 % Broom

Question Number : 48 Question Id : 99836718958 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. ¢ -7
2. % T
2 % EEr

4 % =g

Question Number : 49 Question Id : 99836718959 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The chermnical name of Elue vitriclis _______________
Options:

1. % Sodium tetraborate

2. # Sodium bicarbonate

2. ¥ Copper sulphate

4. % Sulphuric acid

Question Number : 49 Question Id : 99836718959 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. ® gz e
2 % giizay anarE-e
2. T Tethe

4, % TR

Question Number : 50 Question Id : 99836718960 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Animals which hawe the body cavity lined by the mesoderm are called
Options:

1. * Platyhelminthes

2 % Accelomates



2. % Ppseudocoelormates

4 % Coelomates

Question Number : 50 Question Id : 99836718960 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1 % ARt
2. % didmed

3. % g
4. P

Question Number : 51 Question Id : 99836718961 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Solanum melongena is the scientific name of

Options:

1. % Capsicum
= % Radish

2. ¥ Erinjal

4 * Guava

Question Number : 51 Question Id : 99836718961 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % Tamer fief

2 % gdr
o ¥ EFm
4 % aAED

Question Number : 52 Question Id : 99836718962 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The plant from which biodieseal is produced is

Options:

1. * Indigo

2. % Bucalyptus
3. ¥ Jatropha

4 % Cinchona

Question Number : 52 Question Id : 99836718962 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % =fZmr



2. ® JFfre
3. ¥ T
4 ® @

Question Number : 53 Question Id : 99836718963 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

with effect from April 1 _______, the Government of India restructured the Comprehensive Rural Sanitation
Prograrmume and launched the Total Sanitation Carmpaign (T5C).

Options:

1. % 2001
2 ¥ 19939
=% 1982
4 % 2005

Question Number : 53 Question Id : 99836718963 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % 2001

2. ¥ 1999
3% 1982
4, % 2005

Question Number : 54 Question Id : 99836718964 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which among the fOllOW‘iI]g is not a bacterial infectious disease?

Options:

1. * cholera

2. ¥ chickenpox
= % cough

4. % plague

Question Number : 54 Question Id : 99836718964 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TRfeET & & @ |7 e S@THE T el 27
Options:

1. % 24

2 ¥ g aEr

3. % s

4 & am

Question Number : 55 Question Id : 99836718965 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Abowve the troposphere lies the where jet airplanes fly.



Options:

1. ¥ thermosphere
Z. ® mesosphers
3. ¥ stratosphere
4. % eyosphers

Question Number : 55 Question Id : 99836718965 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

HTITEA I __________ T & ST S W0 32 9 g
Options:

1. ® gumsdA

2 ® memEdA

z. ¢ goammEd

4 % gEmET

Question Number : 56 Question Id : 99836718966 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The delta of Godavari along with the delta of is called 'Rice Granary of India'.

Options:
1. ® Indus

2. % Krishna
3. % Tapt
4. % Mahanadi

Question Number : 56 Question Id : 99836718966 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % T

2. ¥ gum

z. % gt

4, % mETAar

Question Number : 57 Question Id : 99836718967 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Apennine is the mountain range of

Options:
1. % [taly

2. % Russia
3. * Tnited States of America
4. % Zanada

Question Number : 57 Question Id : 99836718967 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Options:

1. ¢ Zaal

2 % '

3. % T T O
4. % HAET

Question Number : 58 Question Id : 99836718968 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
501l develops on old crystalline roclks.

Options:
1. ® Elack

2. % Red
2. % Laterite
4. % alluvial

Question Number : 58 Question Id : 99836718968 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

___________ T [T et ag =l W fdwteT g R

Options:

1. % el

= ¥ o

3 ® dTEs
4 % UeEad

Question Number : 59 Question Id : 99836718969 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The ________ Ocean 15 surrcunded by the Facific Ring of Fire, a large nurmber of active volcanoes.

Options:

1. % Atlantic
2. ¥ Pacific
3. % Arctic

4 % Indian

Question Number : 59 Question Id : 99836718969 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. ¥ sEdie®
2. namg

3 % ganEE
4 ® g

Question Number : 60 Question Id : 99836718970 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
The largest city of Myanmar is

Options:

1. % Yangon

2. ® MNavpyidaw
3. # Dhala

4. % Kabul

Question Number : 60 Question Id : 99836718970 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT FT A F2T Mgt ____________ El

Options:

1. =
2 ® et
3. % gTaT
4. ® @
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Question Number : 61 Question Id : 99836718971 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich among the following crops requires water-logging for its cultivation?

Options:

1. % Pulses
2. ¥ Rice
3. #® Maize
4 % Wheat

Question Number : 61 Question Id : 99836718971 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % gelgd
2. W e
3% mg

4. % ¢

Question Number : 62 Question Id : 99836718972 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwho was the President of the Tripuri session of Congress in 19397

Options:

1. % Lala Lajpat Rai

2. % Subhash Chandra Bose
3. % Jawaharlal MNehru

4 % Mahatma Gandhi

Question Number : 62 Question Id : 99836718972 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % ST AT T
2 gum g A
3. ® SERHAH HgE
4. % mErenT et

Question Number : 63 Question Id : 99836718973 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who helped Aldbar to put an end to Hemus' constant dictatorship?

Options:

1. % Hurmayun

2. ¥ Bairarm Khan
3. % Sikandar

4. % Babur



Question Number : 63 Question Id : 99836718973 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
B0 & T TTATET A F % T st & e neg Ee

Options:
1% g
o ¥ EEE
3. ® oy

4 % FEw

Question Number : 64 Question Id : 99836718974 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who 15 regarded as the Father of Modern India?

Options:

1. ¥ Ram Mohan Eoy

2. % Keshub Chandra Ser
3. # Debendranath Tagore

4. * Jawaharlal Nehru

Question Number : 64 Question Id : 99836718974 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT ier AT o TOaT % &0 o TR /T AT 87

Options:

1 ¥ T ART T
= R SR O
3. ¥ TSI A
4. ¥ FARIAA H5F

Question Number : 65 Question Id : 99836718975 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The greatest achieverment of Erahmmo Samaj in the field of social reform was the abolition of Sati in
Options:

1. % 1829

2 % 1850

3. % 1806

4. % 1835

Question Number : 65 Question Id : 99836718975 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT TR & &7 H 5] T & Herd a2l I0aled ________ o T BT AT 4
Options:

1. ¥ 1829

Z % 1850

3. % 1808



4. % 1835

Question Number : 66 Question Id : 99836718976 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
________ built Solesvara ternple at Puduldaottal,

Options:

1. ® Parantalka Chola
2. ¥ Vijayalayva Chola
2. % Rajaraja Chola
4. % Aditya Chola

Question Number : 66 Question Id : 99836718976 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
________ I UgRIZE | AET HicT @7 T o

Options:

1. ® Waw A

o ¥ T A
3. ® TR A

4. # amiecm e

Question Number : 67 Question Id : 99836718977 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

___________ conguered the whole of Sri Lanka and held its king captive for 12 years.
Options:

1. ®* Rajadhiraja Chola

2. ¥ Rajendra Chola I

2. % Rajaraja Chola

4. % Aditya Chola

Question Number : 67 Question Id : 99836718977 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
___________ ¢ e O e U S IEE T E T 12 a6T ao dal aeTed 7

Options:

1. % TATERT At
2 ¥ g Al

3. ® TR A

4. # amiecm e

Question Number : 68 Question Id : 99836718978 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Satvanaravana REaju is the real name of

Options:
1. * Munshi Premchand

2. % Swarr Agnivesh



3. % Baba Amte
4 % Satya Sai Baba

Question Number : 68 Question Id : 99836718978 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
_________________ T T (el AT e T 2]

Options:

1. % gt g
2. % TITAT st
3. ¥ gEr e
4, & T e ATe

Question Number : 69 Question Id : 99836718979 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Eidhan Chandra Roy Award was instituted in 1976 in memory of B. C. Roy by

Options:
1. ¥ Medical Council of India

2. % Bar Council of India

2. #® Sports Cormrmittes of India

4 % Institute of Chartered Accountants

Question Number : 69 Question Id : 99836718979 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Terere oig U1 e R ol &It 1976 |

Options:

1. & A R aiws
2. % awd B vl

3. ¥ qudT W@ |

4. ¥ FAET TETRR R

R |l T @t are | et

Question Number : 70 Question Id : 99836718980 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
And Then One Day' is written by

Options:

1. # sudha Murthy

= % Arundhati Roy

2. ® Shashi Tharoor

4. ¥ Naseeruddin Shah

Question Number : 70 Question Id : 99836718980 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TEEFeE____________ BT Tordt T 3

Options:
1. % geraE



2 ® apid T
3. % arfdt e
4, & FHEER aE

Question Number : 71 Question Id : 99836718981 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The headquarters of BRICS Mations is located at

Options:

1. ¥ Shanghai
2 % Geneva
3. ® Mew York

4 % London

Question Number : 71 Question Id : 99836718981 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
BRICS TTgt s geamer _________ H T

Options:

1. gwmg
2 ® -
3. % g

4 ® Faq

Question Number : 72 Question Id : 99836718982 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who is the author of 'BEamcharitmanas'?

Options:

1. * valmild
= ¥ Tulsidas
2. % ved Vyas

4 % Prernchand

Question Number : 72 Question Id : 99836718982 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T AT o e i 57
Options:

1. % geAfs

2 ¥ g
3. ¥ deoe
4. % R

Question Number : 73 Question Id : 99836718983 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[SRO was established Yedrs after Pakistan's SUPARCD.

Options:



1. % =six
% ten
3% five

4. ¥ eight

Question Number : 73 Question Id : 99836718983 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

OTferEa o SUPARCO & ________ o TG ST T TS T am
Options:

1. % 7%

2. % gq

z % g

4 % E

Question Number : 74 Question Id : 99836718984 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which Part of the Constitution deals with the Amendments of the Constitution?

Options:
1. % IX
2 %K

3w HV
4. ¥ HH

Question Number : 74 Question Id : 99836718984 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

eI &7 S |7 AT | & Hare & JaiEd 57
Options:

1. % IX

R

SRR AT

4 ¥ ¥K

Question Number : 75 Question Id : 99836718985 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which among the following amendments is related with reservation for econormically weaker sections of the
SOCiety?

Options:
1. % 100
2 ¥ 102
3% 96
4 % 326

Question Number : 75 Question Id : 99836718985 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



TRTeTET # & @ A7 ST TA & AT €0 AN it o o] AT & Heied 57
Options:

1. % 100

= ¥ 102

3. % 98

4, % 28

Question Number : 76 Question Id : 99836718986 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Article gave spacial status to Kashrir,

Options:
1. % 395

2. ¥ 370
3. % 356
4 % 343

Question Number : 76 Question Id : 99836718986 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e _____ = i T T o=t T am
Options:

1. ¥ 395

= ¥ 270

3. % 3c6

4. ® 343

Question Number : 77 Question Id : 99836718987 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What 15 the rrinirrm age for election as a member of a FPanchavat?

Options:

1. % 22 vears
2 #® 24 years
3. % 18 vears
4 ¥ 21 years

Question Number : 77 Question Id : 99836718987 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TITEId o 9oed & &0 § gATg o ol =Iaw amg Fam 77
Options:

1. % 3009

= % o4
z ® 15
4 @ 21 Tf

Question Number : 78 Question Id : 99836718988 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

India finished the [55F tournament on top of the table with _________ medals.
Options:

1. % 12

2 % 15

3. % 18

4. ¥ 24

Question Number : 78 Question Id : 99836718988 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
WRA A _________ g o | el H I T W ISSF gATHe quf T

Options:
1. % 12
= % 18
3. % 18
4 ¥ 24

Question Number : 79 Question Id : 99836718989 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
___________ has won the 2nd edition of the Intercontinental Cup football tournarment.

Options:

1. % India

2. % MNorth Korea
3. % Syria

4. # Tajikistan

Question Number : 79 Question Id : 99836718989 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

___________ o EethTeTe B PTale GTHE o GE HERe Bl ST 3l
Options:

1. % 9Rd

2. ¥ FaT @iear

2 % wifear

4 ® FIATREITT

Question Number : 80 Question Id : 99836718990 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which among the following countries did not participate in the 2nd edition of the Intercontinental Cup football
tOUrNAITIEnt?

Options:
1. # India

= * Svria
3. % North Korea
4 % China



Question Number : 80 Question Id : 99836718990 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT ot # & e Seeaiie o &0 Beale gAIRe & gat Gede § 9T =51 i

Options:

1. % 9ANT

2 % wifer

3. ® Fav @i

4. ¥ ==

Arithmetic Abilityl

Group Number : 5

Group Id: 998367684

Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit?: No

Break time: 0

Group Marks: 20

Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0

Minimum Instruction Time: 0

Arithrmetic Ability1

Section Id : 998367805
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 9983671023
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 99836718991 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the LCM of 128, 148, and 168,

Options:
1. % 99458

2. % 98452
3% 4949310



4. * 98450

Question Number : 81 Question Id : 99836718991 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
128, 148, 3% 168 T oeod G & A1 F)

Options:

1.9 994586
2. % 98452
2. % 99210
4. % 98450

Question Number : 82 Question Id : 99836718992 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The flooring of a hall 10 ft. long and 4 ft. wide is to be done with 2 ft. by 2 ft. square tiles, how rmany tiles will
be requirad?

Options:
1. % 15
2. % g
3. ¥ 10
4 % 12

Question Number : 82 Question Id : 99836718992 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
%ﬁﬁﬁfﬁmﬁ 10 TiT /et 3T 4 Bz =St § 7 2 BT &/ 2 HiT & TTiE aTgee o a1 A, o= S5 ed o Taao@ar

Options:
1. % 15
2. % 8
2. ¥ 10
4 % 12

Question Number : 83 Question Id : 99836718993 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

Solve the following: 9 x4 -2 +6-2x3-9+4-8-2="
Options:

1. % 18

= 17

3 % 16

4 % 15

Question Number : 83 Question Id : 99836718993 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
THRET S A 9 x4+ 3+6-3 X3 +9+4-8+2=7
Options:



1. % 18
2. ¥ 17
3. % 18
4. % 15

Question Number : 84 Question Id : 99836718994 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Solve the following: 2375 + 0625+ 3 -(1 + Bjof 24 =7

Options:
1. ¥ 25
2. ¥ 238
3. %3

4 % 32

Question Number : 84 Question Id : 99836718994 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T #Tgaed 2375 - 0625+ 3 -(1 - 6)of 24 = 7
Options:

1. %25

= ¥ 28

3. % 3

4 ® 22

Question Number : 85 Question Id : 99836718995 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ifiy-121) +(y-21)=v, findy =7
Options:

1. % 22

2. % 185

3 ¥ 11

4 % 5§

Question Number : 85 Question Id : 99836718995 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
?Tﬁ[(}.r -12l1 (v -21) =, Eﬁ}r AT T
Options:

1. % 22

Z % 165

3. ¥ 11

4 % 55

Question Number : 86 Question Id : 99836718996 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Solve the following: (B75 <5+ 3)+ (240 + 6 = 2) =7



Options:
1. ¥ E5
Z % B0
3. % cg
4, % 50

Question Number : 86 Question Id : 99836718996 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT FT A (675 < 5+ 3) + (240 - 6 = 2) = 7
Options:

1. ¥ ES

2 ® B0

3. % E5

4. % 50

Question Number : 87 Question Id : 99836718997 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[f122 x2-31x12+v x4 =55 findy ="

Options:
1. %8
Z w12
3 0% 14
4. ¥ 18

Question Number : 87 Question Id : 99836718997 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT 122 3 -31x 12+ 7 x4 = 58, 97y F17 F%:

Options:
1. %8
e %12
3. % 14
4 ¥ 18

Question Number : 88 Question Id : 99836718998 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Solve the following: 2 x4 x 38 + 9-4 <3 =7

Options:
1.%0
= ¥ Z0
3. % -95
4. % 18

Question Number : 88 Question Id : 99836718998 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



AT T g 2 x4 <36 + 9-4x3 =7
Options:
1. %0
2 ¢ 20
5 ¥ -ag
4 % 1g

Question Number : 89 Question Id : 99836718999 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In an MCO test, 4 marks are awarded for a correct answer and 1 mark is deducted for a wrong answer, if a
student atternpted S0 questions and scored 120 marks, how many questions did he [she solve correctly?

Options:
1. % 32
2 ¥ 34
3. % 36
4 % 38

Question Number : 89 Question Id : 99836718999 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Mo 3§ TET 0 o T 4 o Ry A ot Tae e & BT 1 o we e E O g T A 50 W 5a TR, o 9
120 &% WA 3, a1 Fa- foraer meg @t g Foer?

Options:
1. % 32

2 ¥ 34
3% 36
4 ® 33

Question Number : 90 Question Id : 99836719000 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Solve the following: [(12.5 + 2251+ (B - 05)] - [D7S x4 +(E x05)] ="

Options:
1. %2
2 % 25
3.9 3
4 % 35

Question Number : 90 Question Id : 99836719000 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T #T A [(13.5 < 225+ (B < 05 = [(0.75 x4+ (8 x 05)] =7

Options:
1. % 2
2. % 25
3. ¥ 3
4 % 35



Question Number : 91 Question Id : 99836719001 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A& dress priced Rs. 5000 was sold for Bs. 4500 after discount. After bargaining, the customer got another 10
percent on the billing price. Find the net discournt percent.

Options:

1. % 17.5 percent
2. % 18 percent
3.9 19 percent

4. % 20 percent

Question Number : 91 Question Id : 99836719001 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

S000 P T Tk UTSTeR %1 52 % allg 4500 U7 H <2 =M BIerdTe @ o, TR @ e e Gra ug 2T 10 uidsd @ ge e
T e T Wid AT g Tl

Options:

1. % 175 uidad
2. % 18 uideT
= ¥ 19T
4. % 20 nidaT

Question Number : 92 Question Id : 99836719002 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& man purchased gifts worth Rs. 1050 for Rs. 900, Calculate the discount percent.

Options:

1. % BEO percent
2. % 10 percent
2% 1270 percent
4. % 14 20 percent

Question Number : 92 Question Id : 99836719002 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T SATEHT = 1050 07 % IUEN 900 H @i 3¢ - nidad ge ety

Options:
1. ® g c0nided

o ® 0wk
. ® 1z 70O
4 & 14 30 uigaT

Question Number : 93 Question Id : 99836719003 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

YVikram sold 5 kg rice at s, 50/kg and 2.5 kg dal at Rs. 80jkg, for a total of Rs. 400, Calculate the net
discount percentage offered.

Options:
1. % 10.89 percent



2. ¥ 11.11 percent
3. % 11.76 percent
4. % 1250 percent

Question Number : 93 Question Id : 99836719003 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
%’-ﬂﬁrm T kg WS kg TTa o 3 80 T ke W 2.5 kg I a2l T8 Fof 400 FUT 1 Tl 90 $eg T2 Widad &1 Tomr

Options:
1. % 10 89 uidad

o & 11 11 uigeT
I % 1176 e
4 ¥ 12 50T

Question Number : 94 Question Id : 99836719004 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The price of a car depreciated by 20 percent, 40 percent and &0 percent respectively in 2 vears. What is the net
depreciation ({round off)?

Options:

1. ® 75 percent
= % 77 percent
3. % 79 percent
4. ¥ 31 percent

Question Number : 94 Question Id : 99836719004 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
= o9 o U B &1 HIHT FET 20 Waad, 40 Hidad o 60 Had O2 TE] I8 Troie ™ (X13S TE) 47 57

Options:

1. % 75 oidem
2. ® 77 uided
. % 7onidea

4 ¥ 31 uigaT

Question Number : 95 Question Id : 99836719005 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If a student divides a nurnber by = erroneously by 3 instead of dividing it by 13, then what is his percentage
Error in Ccalculation?

Options:

1. % 38.90 percent
Z % 75.00 percent
3. # GB.B0 percent
4. % 23 40 percent

Question Number : 95 Question Id : 99836719005 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
e e 19 13 & ST U 9T &1 Ted ! & 3 & ST aeaT g, af T0ET # 38! uidad gie - a7

Options:

1. % 38.90 uidaa
o, % 7500 UideaT
3. % 6660 nideT

4 ¥ 33 40 gidaT

Question Number : 96 Question Id : 99836719006 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A fruit basket contains 40 fruits out of which 30 percent are apples, 20 pieces are oranges and the rermaining
are bananas. Find the percentage of bananas in basket.

Options:

1. % 10 percent
2. % 16 percent
3.9 20 percent
4. % 24 percent

Question Number : 96 Question Id : 99836719006 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
U et T 2IReT 7 40 e B B R & 30 witad §a 20 w1 Hat oI I St g1 B Soer # e w7 vl s

Options:

1. % 10 nfdem
o % 16 uideT
3. ¥ 20 nideT
4. ® c4udaT

Question Number : 97 Question Id : 99836719007 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A newspaper is s0ld for Rs. 1.5 while the cost price for it is Bs. 0.5, If transport charges are 40 percent of the
sale price, what is the net profit percent?

Options:

1. % 2333 percent
= ¥ 26 326 percent
3. % 37 .50 percent
4 % 3923 percent

Question Number : 97 Question Id : 99836719007 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

EW%S B H ST SATAT 5, i St /i Jrdr 0.5 20 81 Ale; uiag e Tdoh! Gra @1 40 Widad g, av 48 @
ST T &

Options:
1. % 33 33 gt
= ¥ 2626 uidad

= ¥ 37 o0 ueT



4 % 29 23 gt

Question Number : 98 Question Id : 99836719008 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& pet dog was sold at Bs. 12,800 with 15 percent profit. Find the cost price.

Options:

1. ¥ Rs 12000
2 % Rs. 15870
3. % Es. 11730
4 % Rs 12525

Question Number : 98 Question Id : 99836719008 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T UTeq, il 15 Wiaard &t 08 13, 800 F0T § <5 THIT $M @ Jed 1T

Options:

1.9 12000 U7
2. % 15870 w07
3. % 11730 700

4, % 12525 w7

Question Number : 99 Question Id : 99836719009 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& bookshop sells one set of books at Rs. 620 at 15 percent loss and another set at Bs. 1020 at 35 percent
profit. Find his net profit?

Options:

1. % 7.E0D percent
2. 9 10 percent

3. % 1250 percent

4 % 15 percent

Question Number : 99 Question Id : 99836719009 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T TR Tel T b e OE QEqeh! o1 Uk e 630 #U0 H 15 Widad i g1+ 0¥ ST gaeT 8¢ 35 Widad o ot 10280 &0y H &y ST gl
g T T

Options:

1. % 750 uidea
o ¥ 10T

3. % 1250 nidem

4 % 15 it

Question Number : 100 Question Id : 99836719010 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the value of v if 2.5)v 1 7116 .

Options:



1.%2
2. % 4
3.¥8
4 ® 16

Question Number : 100 Question Id : 99836719010 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Y T e d A @ At 3.5y o 716 )

Options:
1. %2
2. % 4
3. ¥ 3
4 % 16

Arithmetic Ability2

Group Number : 6
Group Id : 998367685
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Arithrmetic Abilityz

Section Id : 998367806

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 9983671024
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 99836719011 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
12 mangoes weigh 2.4 kg and 8 apples weigh 1.2 kg. Find the ratio of weight of one mango to one apple?



Options:
1.% 21
=z w22
3.9 43
4, % 54

Question Number : 101 Question Id : 99836719011 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
12 A FT a9 2.4 kg &0 S T FT a9 1.2 kg 81 UF def 31 T ST & a0 1 STU1d A1 Fe7

Options:
1. % 21
2 % 32
3% 4.2
4 % 54

Question Number : 102 Question Id : 99836719012 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
IfX:¥:Z2=2:4:8 then whatistheratioof /¥ . ¥IZ . ZJH 7Y

Options:

1.v 1:1.8
Z ® 1:2:4
3. % 1.2
4. % 2:1.2

Question Number : 102 Question Id : 99836719012 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AEH Y. Z =2:4: 8% LY Y|Z: Z /X T AT FaT 57
Options:

1.9 1:1:8

= % 124

3% 122

4. ® 2:1:2

Question Number : 103 Question Id : 99836719013 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the total value if Rs. 800 is invested at 10 percent compound interest for 2 yvears?

Options:
1. ¥ Es. 963

2. % Rz 1018.40
3. ¥ Rs 10687.22
4. ¥ Rs. 1064.80

Question Number : 103 Question Id : 99836719013 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



afe 800 FUT 10 Wid 2T Thgieg eor 0T T e A § a1 § 19 &7 § S8 Fel Brd Toha-r 87
Options:

1. % 958 &7

2 0% 1016 40 w07

3% 1067 22 w0

4. ¥ 1064 80 ¥

Question Number : 104 Question Id : 99836719014 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The half vearly rate for simple interest is 12 percent, find total amount if Rs. 1800 is invested for 1 vear?

Options:

1. % REs 1792
2. % Rs 1882
3. ¥ Es. 1934

4 % Hs 2000

Question Number : 104 Question Id : 99836719014 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR =0T o TonT arefeiier o¥ 12 uidae & i e fdr 1600 wuy &7 fder 1 ad & fong Frar < &, 9 g i faea=r B

Options:

1. % 179z #uy
2. % 188z w7
3. ¥ 1984 707
4, % 2000 7

Question Number : 105 Question Id : 99836719015 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the difference between Cornpound Interest and Simple Interest on Bs. 5000 for 2 vears at 16 percent?

Options:

1. ® REs 768
2. % Rs 512
2. % ERs 256
4 ¥ Rs 128

Question Number : 105 Question Id : 99836719015 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
SO00 FOT F 16 WHaT T 20 & 2 a6 H Ty eaT 3T TR0 &7 & =l @7 37d¢ A9 B4

Options:

1. % 768 &
2. %G1z ey
3% 206 T
4. % 128 w07

Question Number : 106 Question Id : 99836719016 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

P leaves for the airport 4 hours before the boarding time by a taxi which travels at the spead of 40 kmjhr and
after traveling for 0.5 hours, his taxi meets with an accident causing him to be forced to wait for a bus for 15
minutes. He finally gets a bus which takes him to the airport at a speed of S0 kmfhr. If P reaches the airport 2
hours before the boarding time, then what was the total distance covered by P?

Options:

1. ¥ 825 km
2. % 85 km
2% 725km

4. * 75 km

Question Number : 106 Question Id : 99836719016 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

P, 3 ERT NS TS0 & 4 ©¢ Ugel gd1s AZ & [0 WWHT 5T 81 2ot 40 krry/hr %1 THTR & =7 Fd1 5 97 0.5 ¢ & Jm=7
& TG GHCATIET 5161 5, | P @1 15 T8¢ o o6 BT SO @i U5 a1 g1 | B 6 50 karn /1 @ e & ST eret s e
TE F I FATE STE T o AW 5l Aig P AST TEA ¥ 2 ©E Uge aTs S5g UIgld AW g, 91 F &N a9 @i M Pl gif sl g7

Options:
1.9 825 km

2. % B85 km
2% 725 km
4. % 75 km

Question Number : 107 Question Id : 99836719017 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
What i5 the measure of the angle formed the hour and minute hand when the clock strikes 4:107

Options:

1. # 5E degrees
2. % B0 degrees
3. % 65 degrees
4. % 70 degrees

Question Number : 107 Question Id : 99836719017 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT HETH 4: 10 waT 5 99 ©e A 6T & G o o P BT ST T 57

Options:
1. ¥ ooy

o ® g0 T2
3 ¥ 55 12T
4 ® 7o eI

Question Number : 108 Question Id : 99836719018 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
An ambulance runs at an average specd of 50 kmjh. What is the speed calculated in mys retres per second)?

Options:
1. % 833m/s
2. ¥ 12 89m/s



3. % B2.2m/s
4 % 12 9m/s

Question Number : 108 Question Id : 99836719018 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T UFetd SO krmyfh & eed T & I g1 s (HieT uid d@%s) § S9! T 79T 57
Options:

1. % 8.33m/s

Z ¥ 12.89m/s

3. % B33m/s

4. * 138.9ms

Question Number : 109 Question Id : 99836719019 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A and B start building a wall and complete it in 20 days. C and D started building a wall 20 percent bigger
than the size of the wall built by & and E. If C and D worl with the same efficiency level as & and E, then in
how many days will they complete their wall?

Options:

1. ¥ Z4 days

2. % 1667 days
I % 22 days

4 % 1367 days

Question Number : 109 Question Id : 99836719019 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A 3T B U SIE T WEI @R OF #d g o sd 20 Al d wrad 81 C oD T A SR E gRT MiAT R & e & 20
%ﬂgaﬁgﬁmmﬁﬁwgﬁm C 3D, & 3T E & T T4d7 €9¢ & GRT TTH T 5, a7 o AT IR @ e
TR T,

Options:

1.9 2412

2 ® 1667 2T
3 % oofed

4 ® 13677

Question Number : 110 Question Id : 99836719020 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

20 men can build a road in 20 days. After working for some days, it was decided to complete the work in 20
days by increasing the workers to a total of 40 men. After how many days was the number of workers
increased?

Options:

1. * 8days
= ¥ 10 days
3. % 12days
4. % 15 davys



Question Number : 110 Question Id : 99836719020 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

20 AEHr 30 A O 92 o1 Gd 8 §7 14T o ®19 T & aig, HAH®! &1 6T B Fa 40 G201 TF ggiw 20 At § #m g

Options:

1. % 5
o ¥ 10 feT
3 % 1zRe
4 % 15fT

Question Number : 111 Question Id ;: 99836719021 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A rmmachine can pick 100 kg tea leaves in 1 day. 30 wormen can pick 360 kg tea leaves per day. If the machine
can work on alternate days, find the total amount of tea collected in 10 days.

Options:

1. % 2300 kg
2. % 2950 kg
3% 3600 kg
4. % 4100 kg

Question Number : 111 Question Id : 99836719021 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T A 1 A ® 100 kg =2y & ueit g9 ad T 81 30 Afga Wi 29 360 kg =T o wl o9 de@d 51 e A dw e ot #
Wﬁﬂﬁaﬁlﬂﬁﬁmfﬁ%mﬂﬂﬁmﬁ? &

Options:

1. % 2300 kg
2. % 2950 kg
2% 3600 kg

4. ¥ 4100 kg

Question Number : 112 Question Id : 99836719022 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If the surface area of a sphere is £16 sq Cm, what will be its diarmeter?

Options:

1. % 2E5cm
2. % 7om

2. % 10.5cm
4 ¥ 14cm

Question Number : 112 Question Id : 99836719022 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ofe U TTiet &1 F95 & 436 616 5q Crm 5, T ST AT F47 e
Options:

1. % 2E5cm

2% 7om



% 105cm
4 % 14cm

Question Number : 113 Question 1d : 99836719023 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& people eat the same amount of pizza. Together they order one pizza with radius 8 cm. The next day, only 6
people attend work, what should be the radius of the pizza if each person eats the sarme armnount?

Options:

1. % 4cm

2 ¥ 4./3cm
. % 8/3cm
4. % Zom

Question Number : 113 Question Id : 99836719023 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

S AT O 51 AT H =T G 31 o U T AT 8 crm F U T T TS 3 31 2 12, S & F @ O A9 F, ToeT
T (crm B) T ST AR, Al Heder edier aAT AT H EET 57

Options:

1. % 4cm

2 ¥ 4./3cm
z % g./3cm

4 % Bcom

Question Number : 114 Question Id : 99836719024 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& rectangle with sides 2 cmand 4 cm is cut along the diagonal. Calculate the perimeter of one part.

Options:

1.¥ 12cm
2. % 15cm
2% 17cm

4 % 19cm

Question Number : 114 Question Id : 99836719024 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
= Crm1 3T 4 crn & VT AT AT W TS O ST AT 51 U W o T 9 I e

Options:
1.% 12 cm

. % 15cm
3% 17 cm

4. % 19cm

Question Number : 115 Question Id : 99836719025 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Refer the pie chart and calculate the nurmber of washing machines sold, if the total number of appliances sold
during the year is 8400 units.

Sale of Appliances

Options:

1. % 2000
o % 3200
3 % 2400
4. 9 2100

Question Number : 115 Question Id : 99836719025 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
UTE =TE % STA o Sf it i anta waftt & S & o e, oty e @ SR e T U F e 6T 8400 TR

Iq&on 6 fafr

Options:

1. % 2000
2. % 3200
3 % 2400
4. ¥ 2100

Question Number : 116 Question Id : 99836719026 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Refer to the pie chart below. &4 garment seller sells 5 brands of jeans. If his total sale is Rs. 80000 per day,
how many brands have sales less than RS 10000 per day?

Sales of Jeans of different brands

Options:
1. %5
o %4
3 %3
4 0z

Question Number : 116 Question Id ;: 99836719026 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
et Ty oy unE ot S U wuaT kT 5 e it st 81 e et gt ekt 80000 Ty uid fod 2 9t e wist &
et 10000 0y i faa & #H 27

fafdes @3t & Shew & fadfr

Options:
1. %5
o % 4
3 %3
4 ¥ 2

Question Number : 117 Question Id : 99836719027 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Refer to the pie chart showing the different animals raised in a farm. Find the ratio of pigs, sheep and cows, if
the total number of animals in the farm are 500, The degrees shown in the pie chart are in proportion to the
number of animals.

Animals raised in the farm

Options:

1. % 21:10:5
2 % 10521
3 ¥ 52110
4 % 10:21:5

Question Number : 117 Question Id : 99836719027 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T G | et T T g A=ad ol gaid 70 T8 aTe ®f od gar, 92 o T & SguTd ®1 1 &, i €@a § e &
HET SO0 31 U @8 ¥ Towme W8 T2t Sieiaw! &1 9% & argumg o 21

@d A I 71T A=A

Options:

1. % 21:10:5
2. % 10:5:21
3 ¥ 521010
4. % 10:21:5

Question Number : 118 Question Id : 99836719028 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The following line graph shows the earnings of F and < (in rupees) over & months period. In how many
months was the earnings of G more than P by at least 20 percent?

— [ arrirggy of P Larmingn of O
2000

TR00

2000

19000

Eamung of P and Q

1000

13000
larispry Februsry Mpic gl My I

Month

Options:
1. % 4
2. ¥ 3
3 % g
4 % g

Question Number : 118 Question Id : 99836719028 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

FEAET Fed U 6 A ®f et § F oflv O & F0me (o0t o) @ gaiar g1 P e 8 G & A e meel § w0 | w0 20
s wanaT 417

—p oy warh a6

17000

25000

13000

21000

18

P T Q # FAE

14000

Options:
1. % 4
2. ¥ 3
3 % g
4 % g

Question Number : 119 Question Id : 99836719029 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The time taken (in days) by &4 and E to complete their work in 4 different weeks is showt in the graph. In how
many weeks is the efficiency of B higher than A7

— & [No of dap) B (No of dam)

Darys
w

Options:
1.¥1
> ® 2
3. %3
4 % 4

Question Number : 119 Question Id : 99836719029 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& B BRT 4 SIeT- 3160 g0l § STHT 18 03T @ o Torg Torem 1 amer (femt #) o o gt mam 31 B &1 A & Rea gt &F
ST ST 57

= (B} W) o (it By e

Options:
1.91
2 %2
3. %3
4 % 4

Question Number : 120 Question Id : 99836719030 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Refer the graph and calculate the number of months in which the footfall in a shopping mall excead 200000,
if the footfall per year is 1200000,

SB000

ey

¥ e
e T000

110200200007

Football in a shopping mall
PEREEEE
CEEEREREEE

Options:
1. % 4
o %5
3 %7
4 ¥ 3

Question Number : 120 Question Id : 99836719030 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
T 1 3 31T 37 W1 &1 HEaT &1 T =, e me ST #TE 8 Gethla 200000 & stfée B, It vl ad gewla 1200000
@

1800

1000 oo

FROLPPCLLLLES
borar

Options:
1. % 4
o % g
3 %7
4 ¥ 3

Zeneral Englishl
Group Number : 7



Group Id : 998367686

Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General English 1

Section Id : 998367807

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 9983671025
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 99836719031 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the
seriterice has no error, select the option ™o Error'.

Everyone in this | town will benefit | into the new hospital.
Options:

1. * Everyone in this

2. % town will benefit

2. ¥ into the new hospital.

4. % Mo Error

Question Number : 121 Question Id : 99836719031 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The sentenice below has been divided into three parts. Select the part of the sentence that has an error. If the
sentence has no error, select the option Mo Error'

Everyone in this | town will benefit | into the new hospital.
Options:

1. ® Everyone in this

2. % towr will benefit

2. ¥ into the new hospital.



4. % Mo Error

Question Number : 122 Question Id : 99836719032 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the
sentence has no error, select the option ™o Error'

Cur atmosphers Consists | armong oxygern, nitrogen | and carbon dioxide.
Options:

1. ® Qur atmosphere Consists

2 ¥ among oxvgen, nitrogen

2. % and carbon dioxide.

4. % Mo Error

Question Number : 122 Question Id : 99836719032 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The sentenice below has been divided into three parts. Select the part of the sentence that has an error. If the
sertence has no error, select the option Mo Error'

or atrnosphiers CONSists | among oxygerl, nitroger | and carbon diosxide.
Options:

1. % Qur atrnosphere Consists

2. ¥ among oxygen, nitrogen

2 % and carbon dioxide.

4. % MNo Error

Question Number : 123 Question Id : 99836719033 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The senterice below has been divided into three parts. Select the part of the sentence that has an error. If the
sentence has no error, select the option ™o Error'

[ looks forward | 10 having a meeting with | you next week.
Options:

1. % 1 looks forward

2. % to having a meeting with

3. % you next week

4. % Mo Error

Question Number : 123 Question Id : 99836719033 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the
seriterice has no error, select the option ™o Error'.

I locks forward | to having a meeting with | you next weelk,
Options:
1. % I looks forward

2. % to having a meeting with



2. % you next weeal,

4. % Mo Error

Question Number : 124 Question 1d : 99836719034 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The sentenice below has been divided into three parts. Select the part of the sentence that has an error. If the
sertence has no error, select the option Mo Error'

Raju always keeps | asked for more money at | the end of the weel.
Options:

1. * Rajualways keeps

2. ¥ asked for more money at

3. * the end of the weelk

4. % Mo Error

Question Number : 124 Question Id : 99836719034 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the
sentence has no error, select the option ™o Error'

Raju always keeps | asked for more money at | the end of the weel
Options:

1. % Eaju always keeps

= % asked for more money at

2. % the end of the weel.

4. % Mo Error

Question Number : 125 Question Id : 99836719035 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The senterice below has been divided into three parts. Select the part of the sentence that has an error. If the
sentence has no error, select the option ™o Error'.

Why are you | putting on | yours raincoat?
Options:

1. % Why are you

2. % putting on

2. ¥ yours raincoat?

4. % MNo Error

Question Number : 125 Question Id : 99836719035 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The senterice below has been divided into three parts. Select the part of the sentence that has an error. If the
sentence has no error, select the option Mo Error'

Why are you | putting on [ yours rainccat?
Options:
1. #* Why are vou



2. % putting on
2. ¥ yours raincoat?
4. % IMNo Error

Question Number : 126 Question Id : 99836719036 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the word segrment that substitutes (replaces) the bracketed word segment correctly and completes the
sentence meaningfully.

Grandpa (will stay along) us for 2 days.
Options:

1. # will staving with

2. % will stays with

3. ¥ will stay with

4. % Do correction required

Question Number : 126 Question Id : 99836719036 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word segrment that substitutes (replaces) the bracketed word segrment correctly and cormpletes the
sentence meaningfully.

Grandpa (will stay along) us for 2 days.
Options:

1. % will staying with

2. % will stays with

=, ¥ will stay with

4. % No correction required

Question Number : 127 Question Id ;: 99836719037 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word segment that substitutes replaces) the bracketed word segment correctly and cormpletes the
sentence meaningfully.

My mom tates in eating) seafood in a restaurant.
Options:

1. % hates sating

2. % hates to be eating

3. * hate eating

4. % Mo correction required

Question Number : 127 Question Id : 99836719037 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word segment that substitutes replaces) the braclketed word segrment Ccorrectly and completes the
sentence meaningfully.

My morm hates in eating) seafood in a restaurant.
Options:



1. ¥ hates eating
2. % hates to be eating
2. % hate eating

4. % Do correction required

Question Number : 128 Question Id : 99836719038 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word segrment that substitutes (replaces) the bracketed word segrment correctly and cormpletes the
sentence meaningfully.

Sri Lanka (is yet to recover) from the terrorist attacks last year.
Options:

1. % is yet to recovering

2. % yet t0 recovers

2. % i3 yet to recovers

4. 9 Mo correction required

Question Number : 128 Question Id ;: 99836719038 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the word segrment that substitutes (replaces) the bracketed word segrment correctly and completes the
sentence meaningfully.

Sri Lanka (is vet to recover) from the terrorist attacks last year.
Options:

1. # i3 vet to recovering

2. % yet to recovers

3. % i3 yet to recovers

4. % Mo correction required

Question Number : 129 Question Id : 99836719039 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word segrment that substitutes replaces) the braclketed word segrment correctly and completes the
sertence meaningfully.

Ideally yvou should always (exercise before have the ) breakfast.
Options:

1. % exercise before had

2. % exercise before haves

2. ¥ exercise before having

4. % Do correction required

Question Number : 129 Question Id : 99836719039 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word segrment that substitutes (replaces) the bracketed word segrment correctly and cormpletes the
sertence meaningfully.

Ideally vou should always (exercise before have the ) breakfast.



Options:

1. ¥ exercise before had

= % eyercise before haves
3. ¥ exercise before having

4. % No correction required

Question Number : 130 Question Id : 99836719040 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the word segment that substitutes replaces) the bracketed word segrment correctly and completes the
sertence meaningfully.

Water Crisis (is the banes) of city living.
Options:

1. * is the banning

= ¥ i3 the bane

2. ® iz for bane

4. % No correction required

Question Number : 130 Question Id : 99836719040 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the word segrment that substitutes (replaces) the bracketed word segrment correctly and cormpletes the
sertence meaningfully.

Water crisis (is the banes) of city living.
Options:

1. # is the banning

2. ¥ iz the bane

2. % is for bane

4. % Mo correction required

Question Number : 131 Question Id : 99836719041 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaning fully.

Mickey fell asleep the physics lecture.

Options:

1. % during
= % for

2. % from

4 % on

Question Number : 131 Question Id : 99836719041 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Selact the word that fills in the blank correctly and completes the sentence meaningfullg.r.

Mickey fell asleap
Options:

the physics lecture.



1. ¥ during
% for
= = from

4. % on

Question Number : 132 Question Id : 99836719042 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaning fully.

Joseph is going to dinner with friends later tonight.
Options:

1. % hawved

2. % haves

2. % having

4 % hawve

Question Number : 132 Question Id : 99836719042 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaning fully.

Joseplh 15 going to dinner with friends later tonight.

Options:
1. * hawed

2. % haves
2. % having
4 ¥ have

Question Number : 133 Question Id : 99836719043 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaningfullg.r.

The quick red fox jurnped the bushes.
Options:

1. * under

= ¥ over

3. % against

4. % on

Question Number : 133 Question Id : 99836719043 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaning fully.

The quick red fox jurmped __________ the bushes.

Options:
1. #* under

2 % over



2. % gagainst

4 = on

Question Number : 134 Question Id : 99836719044 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaning fully.

Mrs. Fulkarni left herbag __________ home.
Options:
1. % on
2. %in
2. ¥ at

4. % from

Question Number : 134 Question Id ;: 99836719044 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaning fully.

Mrs. Fulkarni left her bag home.

Options:
1. % on
2. % in
3. ¥ at
4. % from

Question Number : 135 Question Id : 99836719045 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Selact the word that fills in the blank correctly and completes the sentence meaningfullg.r.

The yellow hibisous plant in
Options:

1. %a

2. % an

3. ¥ the

4. % around

garden grew tall and flowered well.

Question Number : 135 Question Id : 99836719045 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaning fully.

The yellow hibiscus plant in garden grew tall and flowered well.

Options:

1. %a

2. % an

3. ¥ the

4. % ground



Question Number : 136 Question Id : 99836719046 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaning fully.

lam ___________ out for a movie tonight with my best friend.
Options:

1. % gone

2. % goes

3. ¥ going

4. % goned

Question Number : 136 Question Id : 99836719046 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaning fully.

lam ___________ out for a movie tonight with my best friend.
Options:

1. % gone

2. % goes

3.9 going

4. % goned

Question Number : 137 Question Id : 99836719047 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Selact the word that fills in the blank correctly and completes the sentence meaningfullg.r.

Last surrmer vacation my family
Options:

1. % wisiting

2. ¥ yisited

many beautiful places in the MNorth East.

3. % was visited

4. % yms visiting

Question Number : 137 Question Id : 99836719047 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaning fully.

Last surmmer vacation my family many beautiful places in the North East.

Options:

1. % wisiting

2. ¥ visited

2. % was visited

4. *® was visiting

Question Number : 138 Question Id : 99836719048 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Selact the word that fills in the blank correctly and completes the sentence meaningfullgr.

Dr.Sirranis _________ best dermatologist in India,

Options:
1. ¥ the

- |
= % an

4. % among

Question Number : 138 Question Id : 99836719048 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaning fully.

Dr Sirmrarn is best dermatologist in India.

Options:
1. ¥ the

2. % g
2. % an

4. ® armong

Question Number : 139 Question Id : 99836719049 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The sentences of a paragraph have been jumbled up, and labelled F, &, K and 5. Select the option that gives
the correct sequence in which these sentences should be rearranged to form a meaningful paragraph.

F:Howeewer, kricwing how to write a good, well-structured story can be little tricky.

:Read the guidelines below and learn how to take your story writing skills from good to great!

R:The practice of writing stories is essential to good writing.

S:Stories help to breal up large chunks of text and makes the content easier for readers to digest. They guide
the reader through your argument by focusing on one main idea or goal.

Options:

1. = RPGS

2 ¥ RSPD

3. % PORS

4. % SPOR

Question Number : 139 Question Id : 99836719049 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The sentences of a paragraph have been jumbled up, and labelled F, &, R and 5. Select the option that gives
the correct sequence in which these sentences should be rearranged to form a meaningful paragraph.

P:Howmever, knowing how to write a good, well-structured story can be little tricky.

:Read the guidelines below and learn how to take your story writing skills from good to great!

R.The practice of writing stories is essential to good writing,

5:5tories help to break up large chunks of text and makes the content easier for readers to digest. They guide
the reader through vour argument by focusing on one main idea or goal,

Options:
1. # RPQS



2. ¥ RIPD
= % PORS
4. = SPOR

Question Number : 140 Question Id : 99836719050 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The sentences of a paragraph have been jumbled up, and labelled P, O, R and 5. Select the opticon that gives
the correct sequence in which these sentences should be rearranged to form a meaningful paragraph.

F:It was formerly known as Himalayan Zoological Park and was established on 14th August, 1958 in
Darjeeling (wWest Bengal) as a joint venture of of the Government of India (Department of Science and
Technology) and Governument of West Bengal (Departrment of Education).

:Padmiaja Naidu Hirmalayan Zoo Park, 15 the only specialized Zoo in the country and 15 internationally
recognized for its conservation breeding prograrmumes of the Red Panda.

R:In 1975, Late Smit. Indira Gandhi the then Prime Minister of India dedicated the Himalayan Zoological Park,
Darjeeling in Memory of Late Smt. Padrmaja Naidu, ex-governor of West Bengal.

5:The zoo in May, 1992 was transferred to the Department of Forests, Government of West Bengal. At the
Government of India level the Zoological Park is under the Ministry of Environment and Forests.

Options:

1. % SPOR
Z. % POES
2 % OPRS
4. % QRESF

Question Number : 140 Question Id : 99836719050 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The sentences of a paragraph have been jumnbled up, and labelled F, ©, R and 5. Select the option that gives
the correct sequence in which these sentences should be rearranged to form a meaningful paragraph.

F:It was formerly known as Hirmalayan Zoological Park and was established on 14th August, 1958 in
Darjeeling (West Bengal) as a joint venture of of the Government of India (Department of Science and
Technology) and Government of West BEengal (Department of Education).

ZPadmaja MNaidu Himalavan Zoo Park, is the only specialized Zoo in the country and is internationally
recognized for its conservation breeding programmes of the Red Fanda.

F:ln 1975, Late Smt. Indira Gandhi the then Prime Minister of India dedicated the Himalayvan Zoological Park,
Darjeeling in Memory of Late Smt. Padmaja Naidu, ex-governor of West Eengal.

S:The zo0 in May, 1992 was transferred to the Department of Forests, Government of West Bengal. At the
Government of India level the Zoological Park is under the Ministry of Environment and Forests.

Options:
1. % SPOR
2. ® POES
2. ¥ OPRS
4. % QRSP
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Question Number : 141 Question Id : 99836719051 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The sentences of a paragraph have been jumbled up, and labelled F, &, R and 5. Select the option that gives
the correct sequence in which these sentences should be rearranged to form a meaningful paragraph.

P:An old man lived in the village. He was one of the most unfortunate people in the world.

:The whole village was tired of hirr; he was always gloormy, he constantly complained and was always ir a
bad mood.

E:The old Man was happy, he wasn't complaining about anything, smiling and everl his face had a glow of
happiness!”

5:But one day, when he turned eighty vears old, an incredible thing happened.

Options:

1. % PORES
2 = PSR
= = SREPO
4 % POSE

Question Number : 141 Question Id : 99836719051 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The sentences of a paragraph have been jumbled up, and labelled F, &, R and 5. Select the option that gives
the correct sequence in which these sentences should be rearranged to form a meaningful paragraph.

P:An old man lived in the village. He was one of the most unfortunate people in the world.

:The whole village was tired of hirr; he was always gloormy, he constantly complained and was always ir a
bad mood.

E:The old Man was happy, he wasn't complaining about anything, smiling and everl his face had a glow of
happiness!”

5:But one day, when he turned eighty vears old, an incredible thing happened.



Options:

1. % PORS
2. % PSRQ
2. % SRPOQ
4. % PQSER

Question Number : 142 Question Id : 99836719052 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the word that is closest in meaning SYHNONYM o the word given below.

CRESCEMNDC
Options:

1. % Alluring
= % Upsurge
3. % Provincial
4 % Intelligent

Question Number : 142 Question Id : 99836719052 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that is closest in meaning SYHNONYM to the word given belomw.

CRESCEND O
Options:

1. % Alluring
= ¥ Upsurge
2. % Provincial

4. % Intelligent

Question Number : 143 Question Id : 99836719053 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the correct word HOMOMNYM that fills in the blank and makes the sentence meaningful.

Fajesh wanted to the blue suit for the wedding.

Options:
1. % wmare

2. ¥ yeoar
3. % where

4. ® ymeir

Question Number : 143 Question Id : 99836719053 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the correct word HOMOMYM that fills in the blank and makes the sentence meaningful.

Eajesh wanted to
Options:
1. % ware

the blue suit for the wedding.



2. ¥ yoar
3. % where

4. ® yeeir

Question Number : 144 Question Id : 99836719054 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the correct word HOMOMYM that fills in the blank and makes the sentence meaningful.

the races on the sports day.

Options:

1. % one
2. % own
3. % yone

4. % won

Question Number : 144 Question Id : 99836719054 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Selact the correct word HOMOMYM that fills in the blank and makes the sentence meaningful.

the races on the sports day.

Options:
1. % one

2% owml
3. % yore

4 % won

Question Number : 145 Question Id : 99836719055 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that is opposite in meaning ANTONYR to the word givern belomw,

ZENITH
Options:
1. # Peak

2. ¥ Depth
2% Apogee
4 % Stressed

Question Number : 145 Question Id : 99836719055 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that 15 opposite in meaning ANTOMYM to the word given balomwe.

ZENITH
Options:

1. % Peak
= % Depth
3. % Apogee



4. % Stressed

Question Number : 146 Question Id : 99836719056 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the word that 15 closest in meaning SYHNONYM 6o the word given below.

YWACILLATE
Options:

1. % Category
= % Erilliance
3. % Ban

4. % Dither

Question Number : 146 Question Id : 99836719056 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that is closest in meaning SYHNONYM to the word given below,

WACILLATE
Options:

1. % Category
2. % Brilliance
2. % Ban

4. % Dither

Question Number : 147 Question Id : 99836719057 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word is spelt correctly. Choose the correctly spelt word.

Options:

1. % Amealearate
Z % Amealeorate
3. ¥ Ameliorate

4. % Amealiarate

Question Number : 147 Question Id : 99836719057 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word is spelt correctly. Choose the correctly spelt word.

Options:

1. % Amealearate
2. % Amealeorate
2. ¥ Ameliorate

4. % Amealiarate

Question Number : 148 Question Id : 99836719058 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Four words are giverl, out of which only one word is spelt correctly. Choose the correctly spelt word.



Options:

1. # Gilotine
2. % Guillotine
3. % Gilutine
4. % Guilitone

Question Number : 148 Question Id : 99836719058 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Four words are giverl, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options:

1. ® Gilotine

2. ¥ Guillotine

2. #® Gilutine

4. % Guilitone

Question Number : 149 Question Id : 99836719059 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word is spelt correctly. Choose the correctly spelt word.

Options:

1. ® interrferance
2. % interferance
3. ¥ interference

4. % interferrence

Question Number : 149 Question Id : 99836719059 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options:

1. ® interrferance

2. ¥ interferance

2. ¥ interference

4 # interferrence

Question Number : 150 Question Id : 99836719060 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that best expresses the meaning of the idiom or phrase given below.

"Burn your Eridges'

Options:

1. ¥ when vou're really in need, you think of creative solutions to your problems.

2. % Ee in a difficult situation from where escape is difficult

2. ¥ Do something that makes it impossible to 2o back to the sarlier position or situation.

4. % Running away from tricky situations



Question Number : 150 Question Id : 99836719060 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the option that best expresses the meaning of the idiom or plirase giverl below,

'Burn your Eridges'

Options:

1. ® when you're really in need, vou think of creative solutions to your problerms.

2. % Be in a difficult situation from where escape is difficult

=. ¥ Do something that makes it impossible to go back to the earlier position or situation.

4. % Running away from tricky situations

Question Number : 151 Question Id : 99836719061 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that best expresses the meaning of the idiom or phrase given below.

'Burn the candle at both ends’

Options:

1. % vou work excessively hard /keep busy all the time
2. % to do something badly or cheaply

% % to feel depressed

4. % 1o judge somecne or something based solely on appearance

Question Number : 151 Question Id : 99836719061 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that best expresses the meaning of the idiom or phrase giverl below.

'Burn the candle at both ends'

Options:

1. % you work excessively hard (keep busy all the time
2. % to do something badly or cheaply

3. # to fee]l depressed

4. % 1o judge someone or something based solely on appearance

Question Number : 152 Question Id : 99836719062 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that best expresses the meaning of the idicm or phirase giverl beloswe,

'‘Separate the wheat from the chaff'

Options:

1. # when a task/something is very easy

2. % to have some secret information about someone
Z. % People tend to want whatever they don't have.

4. ¥ Separate the valuable from the worthless

Question Number : 152 Question 1d : 99836719062 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Select the option that best expresses the meaning of the idiom or phrase given below.

'‘Separate the wheat from the chaff'

Options:

1. % when a task/something is very easy

2. * to have some secret information about someone
3. % People tend to want whatever they don't have.

4. Separate the valuable from the worthless

Question Number : 153 Question Id : 99836719063 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate 'one word ' for the expressions given below,

To interpret or assign reaning
Options:

1. ® Cajole

Z. % PFluviophile

3. % Juvenile

4 % Construe

Question Number : 153 Question Id : 99836719063 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the most appropriate 'one word ! for the EXPIessions giverl below,

To interpret or assign meaning
Options:

1. % Cajole

2. % Pluviophile

3. #® Juvenile

4 ¥ Construe

Question Number : 154 Question 1d : 99836719064 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate 'one word ' for the expressions given below,

Something that is of daily occurrence
Options:

1. % Quotidian

2. % Epoch

3. % Juwenile

4. # Beguile

Question Number : 154 Question Id : 99836719064 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate 'one word ' for the expressions given below,

Something that is of daily occurrence



Options:

1. % Cuotidian
= % Epoch

3. #* Juvenile
4. % Beguile

Question Number : 155 Question Id : 99836719065 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the most appropriate 'one word ! for the EXPIessions giverl below.

To distorting facts or imitation
Options:

1. * Ethereal

= % Deliricous

3. ¥ Travesty

4. % Reticent

Question Number : 155 Question Id : 99836719065 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate ‘one word ' for the expressions given below,

Distorting facts or imitation
Options:

1. % Ethereal

2. % Delirious

2. ¥ Travesty

4. % Reticent

Sub-Section Number: 2
Sub-Section I d: 9983671027
Question Shuffling Allowed : Yes

Question Id : 99836719066 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)
Cesticn Label | Comprehension



Read this passage carefully and choose the best answer from each of the four options.

Mawlynnong is a village in the East Khasi Hills district of the Meghalaya state in north east India It is notable
for its cleanliness Mawlynnong is located 90 km from Shillong, along the India-Eangladesh border.

As of 2014, there are about 95 households in Mawlynnong The literacy rate is 90 percent. Agriculture is the
chief occupation of the local population, with betel nut being the main crop. The people residing in the
corrrnunity are Khasi people As is the tradition of the Khasi people, Matrilineal Society is the crux of
Mawlynnong i.e property and wealth are passed from the mother to the yvoungest of her daughters, who also
keeps the mother's surname.

Mawlynnong is known for its cleanliness. The waste is collected in the dustbins made of barmboo, directed to a
pit and then used as manure A corrrmunity initiative mandates that all residents should participate in cleaning
up the village. Smoking and use of polythene is banned while rainwater harvesting is encouraged The travel
magazine Discover India declared the village as the cleanest in Asia in 2003, and the cleanest in India in 2005,
This reputation has boosted local tourism, In 2017 it was reported that, according to the village headsmar,
incomes had increased by 60 percent due to increased tourisi.

Sub questions

Question Number : 156 Question Id : 99836719067 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
According to the passage, which among these is a tradition of the Khasi people?

Options:

1. % Matrilineal Society
2. % Patriachal Society
2. * Filial Society

4. % Unilateral Society

Question Number : 157 Question Id : 99836719068 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
According to the passage, which activity is banned in Mawlynnong?

Options:

1. * Drinking Alcohol

2. % Driving at high speeds
2. % Rain water Harvesting
4. 9 Smoking

Question Number : 158 Question Id ;: 99836719069 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
According to the passage, what does the comrmmnity initiative mandate state?

Options:

1. ® all male residents should marry the youngest daughter of the mother's closest relative
= % all residents should participate in cleaning up the village

3. % all residents should participate in tourism activities in the village

4. % 3ll residents should pose along with tourists whern they visit the village

Question Number : 159 Question Id : 99836719070 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
According to the passage, which magazine declared Mawlynnong the cleanest in India?

Options:



1. ¢ Discover India
2. % Discovery
3. % MNational Geographic

4. % Travel & Discovery

Question Number : 160 Question Id : 99836719071 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
According to the passage, which is the main occupation and main crop of Mawlynnong?

Options:

1. % Agriculture, Hazelnut
2. * Tourism, BEamboo

2 Agriculture, Betel nut

4. % Agriculture, Bamboo

Question Id : 99836719066 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)
Cuesticon Label | Comprehension

REead this passage carefully and choose the best answer from each of the four options.

Mawlynnong is a village in the East Khasi Hills district of the Meghalaya state in north east India It is notable
for its cleanliness Mawlynnong is located 90 km from Shillong, along the India-Bangladesh border.

As of 2014, there are about 95 households in Mawlynnong The literacy rate is 90 O34T Agriculture is the
chief occupation of the local population, with betel nut being the main crop. The people residing in the
corrnmunity are Khasi people 45 15 the tradition of the Khasi people, Matrilineal Society is the crux of
Mawlynnong i.e property and wealth are passed from the mother to the youngest of her daughters, who also
keeps the mother's surnarme.

Mawlynnong is known for its cleanliness The waste is collected in the dustbins made of bamboo, directed to a
pit and then used as manure. A cormmunity initiative mandates that all residents should participate in cleaning
up the village. Smoking and use of polythene is banned while rainwater harvesting is encouraged. The travel
magazine Discover [ndia declared the village as the cleanest in Asia in 2003, and the cleanest in India in 2005,
This reputation has boosted local tourism. In 2017 it was reported that, according to the village headsmar,
incomes had increased by 60 percent due to increased tourisim.

Sub questions

Question Number : 156 Question Id : 99836719067 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
According to the passage, which among these is a tradition of the Khasi people?

Options:

1. % Matrilineal Society
2. % Patriachal Society
2. % Filial Society

4. % Tnilateral Society

Question Number : 157 Question Id : 99836719068 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

According to the passage, which activity 15 banned in Mawlynnong?
Options:

1. * Drinking Alcohol



2. % Driving at high spesds
% ® Rain water Harvesting
4. ¢ Smoking

Question Number : 158 Question Id : 99836719069 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
According to the passage, what does the comrmmunity initiative mandate state?

Options:

1. #® all male residents should marry the voungest daughter of the mother's closest relative
2. ¥ all residents should participate in cleaning up the village

3. % all residents should participate in tourism activities in the village

4. % all residents should pose along with tourists when they wisit the village

Question Number : 159 Question Id : 99836719070 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
According to the passage, which magazine declared Mawlynnong the cleanest in India?

Options:

1. % Discover India

2. % Discovery

Z. % National Geographic
4. % Trawvel & Discovery

Question Number : 160 Question Id : 99836719071 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
According to the passage, which is the main occupation and main crop of Mawlynnong?

Options:

1. % agriculture, Hazelnut
2 % Tourism, Barmboo

= ¢ Agriculture, Betel nut

4. % Agriculture, Eamboo
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Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
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Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 99836719072 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T v §, ow Sweat § 9, 39 Swen @1 a9 # Ft =By M7 seg @7 95t Toan &0 91T [Hwen gh

o)
Options:
1. % gher
2. % Oy
3 % iy
4 ¥ gy

Question Number : 161 Question Id : 99836719072 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ng H, oW Sweat § 9, 39 990 @ T o A1 BT M7 seg #1951 900 ® 91AT 9w B

)
Options:
1. % gfer
2 %oy
3 % arfg
4 v gy

Question Number : 162 Question Id : 99836719073 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR wg §, o T § 9, 39 e &1 909 & 91 a0 T 98 %7 951 90 € 97T fdded 51

=)
Options:
1. % o7
2 % g
3. ¥ gl

4 % g



Question Number : 162 Question Id : 99836719073 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ooty ng o, ow Hwedt § 9 39 Doew @7 =2 = 1 750 77 e @7 957 T5g ©F O dwed 51

EE)
Options:
1. % a7
2 % gig
3. ¥ g

4. % g

Question Number : 163 Question Id : 99836719074 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ng & aw et § 9 39 Heed &1 o9 ¢ I I S ®7 9er HEe 8

Options:

1. % 1

2. ¥ W
3% T

4. % FHeT

Question Number : 163 Question Id : 99836719074 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TfeET v #, ow Sweat § 9, 39 Swen @1 a9 & St WigaTe S=1 71 951 0wed 2]

Options:

1. % =

2. ¥ e
3 % g

4. % AT

Question Number : 164 Question Id : 99836719075 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tt v #, ox Beedt 8 9, 39 Swey #7099 o5 S @iew § T 77 e F R daarg & 98 FT ag 1 deed g

HCT HTT AT ST 6T 09 (S2) T’ o)
Options:

1. ¢ e deam

2. % arfepEEE qd-am

3. ® qodE qea

4, ¥ Tpgg IR=F G-

Question Number : 164 Question Id : 99836719075 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Tty va /. ox Seedt 8 9, 39 Swey @1 099 o St @ise # 50 77 g, & Sdr da-r o 9 # aR 1 deed gh

HET ATAT T SYAT ART F 9 (Fa) Fa T 5
Options:

1. & oama® adam

2. % R e

3. ¥ mETE® doqre

4. % T aEE AeaH

Question Number : 165 Question Id : 99836719076 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TrafefaT na §, on Oweat # 9, 39 ey =7 gom & 1 wivw § 50 77 g5 & argan ferdwo & 9 o fEwed gn

2T T (THeEm) 3
Options:

1. % FEgEmEE
2. % giAaEE
3. ¥ TUETEER
4. ® gEATHE

Question Number : 165 Question Id : 99836719076 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TawET g §, IR et § 4, 39 owey @ o2- w1 e ee § 79U 17 Jeg & argan Tehdwor & 98 a1 fowed g

2T g (fieeE B
Options:

1. ® gEgmEEE

2 % gleAmreEE

3. ¥ TEREE
4. % qre-THE

Question Number : 166 Question Id : 99836719077 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TateT v # ow Bwedt § 9 39 Swen @1 =749 o At =y 7 seg ¥ vafaamdt seg @ agt Heer =gt 3

AT
Options:
1. % iy
2 % ot
3 ¥ QT
4. % 7w

Question Number : 166 Question Id : 99836719077 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR mg # ow Awedt § 9, 39 ey @ oaq @ S 150 T Seg, F Taiaame Seg %7 50 [deed "51 8l

ST



Options:
1. % gy
= % et

3. ¥ T
4. % @m

Question Number : 167 Question Id : 99836719078 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T v §, o Teen 8§ 9, 39 Ower &7 299 &8 91 190 77 e, & TiaaeT Seg &1 @51 fd@ed T51 51

gt
Options:
1. ¥ gux
o % g
3 % difer
4 ® BEAR

Question Number : 167 Question Id : 99836719078 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TaEET wg §, o Teen #§ °, 39 See @7 =9 o A1 150 M7 Seg & giaaTeT Meg &1 A1 dwed Tg1 5l

o5t
Options:
1. ¥ gue
2 ® gW
3. % difer
4 % AR

Question Number : 168 Question Id : 99836719079 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ng ®, oW fwedt § 9, 39 Hwed &7 949 & A1 150 77 seg F B Jeg @7 d57 Tded 3

g
Options:

1. % wriEg
2 ¥ TmE
2 % mdm
4. % gy

Question Number : 168 Question Id : 99836719079 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafaET g # or Teet # 9 39 B &1 909 3 1 iy 70 g & TTEW seg @ @t Heed B

g
Options:
1. % wriEm



2. ¥ TogE
= ¥ gy
4 % gy

Question Number : 169 Question Id : 99836719080 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafeT v #, o Sweul § 9, 39 [9we0 &1 =909 ¢ A1 o0 M0 s & oA Jeg 91 951 9@ 21

HETT
Options:

1. % wa@ey
2. % T
3. % Ooaw
4. W I

Question Number : 169 Question Id : 99836719080 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT vg  or Teet # 9 39 Twen o1 909 6 A1 By 7Y g=g & TA geg 9 @5l [Heed 8

HpOT
Options:

1. % gweq
2. % T
3. % Hoaw
4 ¥ I

Question Number : 170 Question Id : 99836719081 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tl v §, ox Twedt 8 €, 39 951 Waey &7 go- = 91 oy 77 Jeg-w & onf @ gt oweT g

Options:

1. % are o amew
2 % g A aE
3. ¥ T & SIes
4. % BT oW s

Question Number : 170 Question Id : 99836719081 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
T va §, ox Teedt 8 €, 39 951 Wawy &7 g9- = 91 oy 77 Jeg-gm & anf @ gt HweT

olef—ced

Options:

1. % s o amew
2. % e v
=, ¥ O 3T AT



4. % ERF i s

Question Number : 171 Question Id : 99836719082 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafaET vg # or et # 9 39 e &1 o0 o A1 oy Ty aeiy & T Ow g @ el ey 81

EIREECE )
Options:

1. = geay
2 % i
3. % g
4. ¢ gl

Question Number : 171 Question Id : 99836719082 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tty ng & ow Heedt § 9, 39 ey @7 =09 ¢ 1 150 77 areaty F W0 UF e # de0 ey ol

T e T g
Options:

1. % geae
2. % gdr
3. % g
4. ¥ gl

Question Number : 172 Question Id : 99836719083 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ng | o Beedt § & 30 a5t Haed @ oo o A1 om v & o 3R Baer gh

Options:

1. % @H
2. % oy
3 %
4 & 7

Question Number : 172 Question Id : 99836719083 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR g # or et # 4 39 987 B @1 a0 ¢ 1 e wre & o s e gn

Options:

1. % @H
2. % gy
3 % @
4. ¥ T



Question Number : 173 Question Id : 99836719084 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT v or Teent # 4 39 Heey @ 20T w1 1 Ty T e & aemeEt geg @ Been a5 8l

Cln)
Options:

1. oy
2 %=
3. %
4 % @ EE

Question Number : 173 Question 1d : 99836719084 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafeET ng # o Bwedt § 9 39 Swen @7 a9 & =t =y 7 seg & aamedt geg @ Bwew a5t 8

=TT
Options:

1. oy
2 % Eg
3. % amam
4. % OEE

Question Number : 174 Question Id : 99836719085 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TraferET v #, o Swed! 8 9, 39 981 Haew &7 g9 w1 T w0 # 00 Sugs Jeg #1911 dwe gl

Options:
1. % ¢
2 % gl
3. ¥
4, % qoe

Question Number : 174 Question Id : 99836719085 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TafeRaT na 8, oW el § 9, 39 Fa1 fowed F1 90 B¢ AT i £ & 0] I0H e, %1 T51 [o@ed ol

Options:
1. % §¢
2 ® gwmf
3 ¥ A
4. % FHFT

Question Number : 175 Question Id : 99836719086 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



TafeET ne 6, or el # 9, 39 owew o7 9o & 1 §g =g 7 d51 [9@ey 2
Options:

1. % STETgRTATaT

2. ¥ SRl

3. ® CHEREAEdT

4. R THEgIhEdr

Question Number : 175 Question Id : 99836719086 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafeET v, O Swedt 8 €, 39 fowed #7999 3 A7 O T8 71 951 05T o)

Options:

1. % FamETggeTaAaT
2. ¥ TR
3. ® CHEREAEdT

4 # RHE@FIT

Question Number : 176 Question Id : 99836719087 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tty vg §, ox Beedt 8 €, 39 Swey #7099 3% J1 9g7 =6 9T a5 8

Options:
1. % Hmm
= ¥
3. % T
4. ® g

Question Number : 176 Question Id : 99836719087 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T vg H, Ox et # €, 39 ST #7901 T5 S a9t J5g, 5l

Options:
1. ® Jew
2 ¥ =
3. % T
4. ® gEe

Question Number : 177 Question Id : 99836719088 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ooty mg  ow Hwedt & 9, 39 Hwed @7 o0 w1 20 70 seg #7 SiiEn geg arer Heew 3
et

Options:

1. % geames

2 % FImEE

3.V gearesr

4 % gamEEd



Question Number : 177 Question 1d : 99836719088 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TfeET ng o o Beedt § & 39 Swew @1 a9 o A1 2w 0 st @ ST ge g Heew 3

et
Options:
1. % geagme
2 % FImEE
3.V gearesr
4. % FITEET

Question Number : 178 Question Id : 99836719089 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ng & ow et § 9, 39 ey @7 909 w8 S Uwdee Seg ®7 9ad 2R e 21

Options:

1. % &g
2 % e
3 % Tt

4. & e

Question Number : 178 Question 1d : 99836719089 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tt ng # o Beedt § & 39 Swew &7 =0 & A1 Uhaae e @7 "ad 39T fHwed 2

Options:

1. % g
2 % e
3 % it

4 % TE

Question Number : 179 Question Id : 99836719090 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT W o, W fawedt § &, 39 Towe &7 =ae @ S I8 MY g & Sgoo 68 F1 Hedl s8] fawey gl

&
Options:

1. FJqd
2 % Fgat
3 % Fgert
4 % fogarm

Question Number : 179 Question Id : 99836719090 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Tl nd o, o deedt § &, 39 fSwer @7 a9 w9 18 17 6T & agaa qeg F He seuT ey gl
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Options:

1. F=qu
2 % gt
3 % Fgert
4 % fogar

Question Number : 180 Question Id : 99836719091 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafefaT na §, ow foweut # 8, 39 Swew =1 oo =3 St ivw § 150 77 e & Srgaw 7eay [euard do-1 &7 9e1 e 51

Options:
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Question Number : 180 Question Id : 99836719091 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1% (#) e adt Sedt @ gar 8

2. % (a) TFERT Egd dIE B ET AT

3. ST § HEH g & ToIT (ST F T sga-agd s
4. % (g AT Fel A AT AT AL

Zeneral Hindiz

Group Number : 10
Group Id: 998367689
Group Maximum Duration : 0
Group Minimum Duration : 120
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Feneral Hindiz

Section Id : 998367810
Section Number : 1
Section type: Online

Mandatory or Optional: Mandatory



Number of Questions: 16

Number of Questionsto be attempted: 16

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 9983671029
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 99836719092 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 181 Question Id : 99836719092 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 1 Wrong Marks: 0.25
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